2220 =

(JLJIG‘U)/‘.UJJ

(Jum)ﬂ::
GA8) 548

i..'..Jﬁ...".f.u:.Ju:ﬁhi&_.:&bédffﬂ{qw'ﬂ.@r’fé_..} D sl CBA ;M.‘ﬁkidlrﬁ Y
_{mr‘.’ﬂ?iﬂuﬁdau‘(ﬂ.&;éﬂL/Zy(u:}rhul_.}:.4.é:/LﬁL£Lﬁf|JWJW

e Suh (D)

(C)

(B)

5_,'-: (D) Ay
Jus (D) g
2
g

¥ 0l (D)

Ve (D)

8 (D)

9 Kcal (D)

.:':.":_'7' (D) &

B (D)

<1903 (D)

931 (D)

82°C (D)

7 |

v (C)

v (L)

wkcal (C)

4 1902
1938

100°C

i | o 1|
..:.;”‘-r'; ! L‘_,

Jveehzbe (D)

-.‘II

-
|s \
Vel

41 (C)

(C)
(C)
()

(L}

s (B)
S et D)

J (B

LasBI (D)

(C)

ildlr

& et

e J¥ (B) ..;,_-,;..*E (A)
-ﬁ'.Jx’:J}dL
o ’
L (B) &7 (A)

-q.&g;;.ij{cﬂifufhﬁcjhlﬁfﬁu‘!

JoF (B)  rul (A)
.q.rhd:wq;‘ﬁ&fmmfﬁéq}

N (A)

AWK ()
ke K

..r'»'..-.z v (B) vk (A)
_ﬁ'.d;hdhi.ntigc.ﬁ'r

,':": B) ,,":;.,".' (A)
.;.Jﬁd‘ bgﬂﬂc..:.fl_ju('f{.g

O 1Keal (B) Ukcal (A)

e B) I () g

et hJiA
D (B) K (A)
(1901 (B) +1900(A) *LH:JL;JTJ[.W
1928 (B) 1918 (A)
1000°C (B)  120°C (A) .q...:::'g.ﬁ"lﬂ’di
skl (A) -q.Jj b’rﬁ I

Jilr (C)
BICE (A) -q.....-ff C’b/:al.n';&a;

-:'w“ 7 (C)

b B £y Uﬁ\ @ ©@"-" JN?

oA\l

.J)fn.':-:’kﬂd‘:x'}; -

[ ]
i

F N

-

10

-1

13

14

15

U =A10 fTF At Y31y 1 =



